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Part a
P = 10 kPa
P, = 20 kPa

LINIT |

Solving: ox*+fx+y=0

F'= 100 molis
L'= 50 molis
yi= 50 maolf's
2= 0.5
o= -0.5
= Z
W= -1
1 - [T}
Xy = 058570 = =z

Xz = 041421 = z;
y,' = 041421

y2 = [0.58579
Pri = 14.14 kPa

Part a)

R 10 kPa
P = 20 kPa
UNIT Il

Solving:, ex’+pu+y=0

Flil= 50 molis
L= 25 molis
vi= 25 malis

z'= (58579

a= 0.5
= 20857864
v= -1.1715873

x A = [.66897

' = 033103
wv'' = 0.50260
yoo = 0.48740
Pt = 13.31 kPa

(.00 020

0.40

%1, ¥1

.6l 086 1.00

el

ok

a P=x(PER R
(P-x)

@y .

;-.:._J:

HI[,I_P;"‘?'P:-JJ




Part b
P, = 10 kPa P, = 10 kPa
P, = 100 kPa P, = 100 kPa
UNIT | UNIT NI
Solving: o +Px+y=0 " Solving: o’ +px+y=0
Fl= 100 moals Fl= 50 mols
L'= 50 molis | = 25 molis
v'= 50 mobs vi= 25 molfs
7, = 0.5 z,"= 075975
o= -0.8 = -0.9
fi= 2 = 2467544
- 1 += -1.519494
%' = 075975 = z," x" =  0.83391
x; = 024025 = z," %' = 0.08609
y' = 0.24025 y.' = 0.58559
ya = 075975 ya' = 0.41444
P = 31.62 kPa Pooal = 15,95 kPa
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Part c)
P = 10 kPa
Py = 5000 kPa

UNITI

Solving: o + B.u-:+7=ﬂ

Fl= 100 maol's
L= 50 molis
vi= 50 melis
z)= 0.5

= -0.998

B= Z

¥ = =1

x' = 095719 = z,"

1]
=
=

%' = 004281 = I,
v = 0.04281
vy, = 0485719

Puw' =  223.61 kPa

P = 10 kPa
pl= = 5000 kPa

LUNIT 11

E-u'l-.rin'g: ' n;n:t_+ ﬂ::' + ¥=0

Fl= 50 molis
L= 25 molfs
Y= 25 maolfs
z,"=  0.95710
= -0.BGE —
f= 2912557 0
y= -1.914386 f,f*’ﬂ’
X = 0.99981
%" = 0.00019
w' = 0.91457
y:. = 0.08543
Pial | = 10.93 kPa
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